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Name g M&D 1N - ng\/

10-digit PUID

RECITATION Section Number and time

Recitation Instructor

Lecturer

Instructions:

1. Fill in all the information requested above and on the scantron sheet. On the scantron
sheet also fill in the little circles for your name, section number and PUID.

2. This booklet contains 16 problems, each worth 6 points (except problems 1, 5, 13 and
15 are worth 7 points each). The maximum score is 100 points. The test booklet has
9 pages, including this one.

3. For each problem mark your answer on the scantron sheet and also circle it in this
booklet.

4, Work only on the pages of this booklet,
5. Books, notes, calculators or any electronic devices are not to be used on this test.

6. At the end turn in your exam and scantron sheet to your recitation instructor.
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1. The graph of f(z) = tanz is shrunk horizontally by a factor of 3, then translated to
the left by 2 units and finally translated down 4 units to obtain the graph of h(z).
Then h(z) =

A. tan(3z+2) -4

LTomy —> o (Z‘ %)

B. tan (!3’-:1: -+ 2) +4
— ((jm (E (X +2”\> C. tan (%az +4) -2

— f’&m,. (/ 2 (% +?/\)) — L} D. tan(3z — 2) — 4
tan(3z - 6) — 4

= Lo [ 2v46) -1

2. The center and radius of the circle given by 222 +2y? —4z+8y+1 = 0 are respectively

| A. (2,-4), 3

‘Z(szjx —%~l > + ?{\j 2+Lf3~;—tl) . B. (2,-4), V3

" — - 0. (=1,2), % ‘

=+l D. (1,-2), 3 ‘

— 2| xxwa)L voof Y +2] "= 9 O
2

— @wljz + @ r2) = %

.

—) (’e/z/\:ff/F 1S [f j ,/2/) @N/{ M(ﬂ, W //)

4

\,\ﬁ o ‘
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3. An equation of the line perpendicular to 2z + 6y = 2 and containing the point (1,2)

is
9 A3z +y=
Jxrby=2 = b= Cx tE /By =1
| o C loypoy=-1
gtD PQ - - é‘ —_— P&’f ',\ Eln LM Cd O ? 3 3
cloyge = - _1 _ 1
ope D—gotdy=
1 5
B zo—y=~3

[/i‘i\ﬁ}/\c’w Q//’W\/ﬁﬂ\ N g —2 =3 K )
Wﬁkgl;y?@d 3@2,‘“0 -3

Gm»“f?m\/»w\? (/lP/ / ;_:I 3 X"“'éw

4. Let f(z) : 5 and g(z) = —i- What is the domain of fog ?
Az £ -2
7 | x’n o ,] ey
A= Loy 4o
g x X B o #0

C.z#0and x # —2

I 1
[(egi = g (S somir L

— %/._L) E.w;é—%anda:#—Z
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5. If%w- <0 < 27 and tand = —%, then cosf =
1
A —
i
D (s b= B) >
=) (S | (E: \/.5
N\D
c. -2
Y
1
D, ——
VB
B, V5
"2

¥

6. Which of the following statements are true for all values of z and y?

Toloe L 2o.9v=ow
2(3

FJA{ II Ey— - 2y-w

F/l/é@*‘“ III. 2% 4 2V = 2%+y

@\Ione are true.

B. Only 1.
:};‘ = Z./ ‘? =9 C. Only I and III.
. D. Only II.
Z 2 = 29
- ’ > L
. ) '32“ . % g E. All are true.
AEA L
T 20 %Y
27 7
Tj %= | ‘j =/,
PANTRL Y
L 2 ¢
Dt =y =€
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7. Solve for z: 2% —x — 6> 0.
)@,,W - _ 1) A. (—o00,00)
X" X6 (x ) ) B. (~00,~3) U (2,0)
@-—oo,—Z) U (3,00)

D. (-, 3)
E. (-2,3)
8. If f(z) = /4 — 2z, what is the range of f~1 ?
s V{ A [2, OO)
‘\(M\gk g}IL VB g\ ¢ J SYW. & 1) {)\Z/ % | B. [0, 00)

(60,2

CEQ‘Y\/\-A/\\A ()}L % A G-y X Z0 D. [0,2]

E. (0,2)
— X 7

—_ X":"

< 9
- (WQQ) 2]
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9. Solve the equation e*~%% = =,

e?

-2 — =3

Q = @ B:c=2—-21n2

2 ﬂ /@ wz) §~ Z: i+1n2
— & (@ ) ST E:m=2+1n2
— Gy = —2¢
_— e [
— Y = 3
10. Evaluate lim_ %’iﬁ = {:{L g:_f("z” - 0

= D [x H(x ) 5.2

Kl Y+ | C. -2

! D.1
— /@w\« % ) B _1

X
= =3
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11. Evaluate lim 2z
z—1+ 3z — 3

- ﬁ/i/;\“\ —-—iz\-m -
i )T 3 (A1)

(fxvl — =1 0)

12. Compute mll)n;lo _2_5% =
p
) //’ 3

= Um X (I+«“:,;)

Yoo T

X ( 2 X 4-»143
= |1+t0
A+ oF
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PRS-

13. Evaluate lim1 356_&11*2 - ‘/\wiwi,z D
' v . A —
N e T %
Vel WW;;( W"“—“\)mwww 5 3
A 2
3
. 1
Y | (X (R"H w‘wz D. 23
E -2
< 2 (1) 2
X | e -
(1) ( [y +2)
o+ 1
14, If
_[3x+a, <1
f($)_{ V2r—1, ifz>1
and if f is continuous at ¢ =1, what isa 7
A2
/o /™ B 51
x&l“#) xar“@X+Q> st+a o
D.)-2
= Joy = B 3
Lm fon = ot ot = o

Do g isls 1 left = oud tit=dmd Bk s egeal

1/§3+a:l“% a= -1

T G fra= 1 = 3=z = £(1)

W&( f(: Y C@\fﬁ\/\ s @ﬁ\ N = ( |
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+ 1, then

A A=1 B=-1
B.A=-1, B=1
C.A=2 B=0
D.A=0, B=0

@Azo, B=2

15. IfA—mli)rgo\/__—+landB-xl}moo\/__
g — X . /‘X . — ¥
Nofe: ——= = i
SRR Y W”‘(H"’ s ek
— %
M"“‘:‘ = i T(\L X <0
=) TR e G
-5 ( W
e e e % AN Q
RS e |

(
\

A:Hm(,wwﬁ*w):~*éw+(:0

> o e

- v \ = ( pa—
g lim ()= L=
>@”@(JF%L |
16. Evaluate lim Lu—_'_—%

T2 2%

= |4yz2+2 Rt =z
=zl
= -3

nofen Lﬂgi;
= b

3
A =7

C. -5
D. 1442

E. The limit does not exist.

.‘S (iféf"mf{"‘)\ AU gw/“ N



